Standardized Test Practice

Read each question. Thes fill in the correct answer
on the answer docament provided by your teacher or
on a sheet of paper.

1. The t=ble shows the daily low tempersimres for
Cleveland, Ohio, over five days.

1 ISF 3,
2 2%
3 F
n “6F
5 5°F

Which expression can be nsed to find the average
daily Jow temperature during the frve days?
A (I5+2+8+6+5)+5
B.15+2+8+6+5+5
(OAL5+(2)+8+(6) +5]+5
D.15+{2)+8+{-6)+5+5

2. Three vertices of a paralielogram are givem as
coordinates (4, 2), (-2, 4), and (1,~3} in the graph.
Which coordinates best represent the location of the

OATE

Ut § — IW

I A\

fourih vertex of the parallelogram?
£ 34
- 311
B o x
AN
F.(31
(39 _1} -— L{
(1.-3)
1,3

3. z=# GRIDDPED RESPONSE The lowest point in
Japan is Hachiro-gata {(elevation —4 m), and the
highest point is Mount Fugi (elevation 3,776 m).
What 1s the difference m elevation, i meters,
between Mount Fuji and Hachiro-gata?

56

4. ==Z GRIDDED RESPGNSE A sohmssine Is cruising
8 meters below the sfaee. The caplam onders a dive
of ancther 17 meters. " Wihst is the new crasing depth
of the snbmarine i heters?

g%wwf’ _54

z.hwhaiqnadxantlspm?immd?
: - i : \/\
i
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A. Quadrant T @demzm
B. Quadrant [ Ouadrant TV

6. What mteger added to-3 sives a stun of 52
&
_6

7. By the end of the thind guoarter of a fosthail
sanse, Ricky had gamed 112 vards and had lost
12 yards. If Ricky lost zm additional 8 yads
and gained 22 yards m the fourth quarier,
which equation could be used to represent his
total yardage for the gmne? -

A 112412+ 8+22=154

@12+(—12)+(4)+zz=114

C. 112 + 12 + (~8) -+ {(-22)="94

ni3
iz

0. (112 +(-12)+ 8§+ 22=-94
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8. == GRIDDED RESPONSE Bobby is Siving 50
feet below sea level at the beach. His sister s at the ¢
swimnﬁngponldncl;vﬁ:ichisleectabmemJ(\
jevel What is the difference, in fect, betwesm the

from bis grandfather to bay a car. He boeght a vsed
car, so he retmmed $4,411 1o his grandfaiher. Write

and solve zn equation usmg infegers that
_ tatalamount'tbatLany'cwcshis praaiather.

=4 6,8@

10. Pablo and fhree of his friends are playing pantball
The table shows their scores at the end of cne romnd.
By how many points is ‘Winston beating Pablo?

H.178
L1313

11. Each of the first 4 pit stops a race car driver makes
loses ten seconds off the leader. The pit crew makes
adjustments, and at each of the next two pit stops be
gains 7 seconds on the leader. How mmch time is the

driver off the leader?

A 40 ds -— o :

B 14 seconds L\ + J0= L{‘O
{ ::;}-26 seconds ' o

D. 54 seconds ri ’ ‘;\ < { q

~20

‘ Course 2 - Chapter 3 Iniegers

12 %S@RTRESPGMAW,@:M:L
square are graphed om a coordinate plase Nams
an ordeved paix that s Sawide the recitangle bat
outside the square.

13. E=| EXTENDED RESPONSE The use of computers
to dowaload music bas decreased the sales of music
CDs. Use the followesa table o answer the

questons.

D001 32,000
2002 34,000 i
5003 [3,000 1y
2004 14,000
2005 10,000
5006 12,000

Part A During which yesr was there the greatest
decrease in CD releases from the previous year? 2005
‘What was the decrease?Qf, g-00

Part B Write and evaluate ah expression that shows
the change m CD releases from 2004 to 2005.

Yoed
_ [oebo
/_ﬂ____,‘_—-‘

U ope
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DATE

Standardized Test Practice

Read each question. Then fill in the correct answer on
the answer sheet provided by yonr teacher orona
sheet of paper.

. 2% SHORT RESPONSE Mrs. Brown needs to
make two different desserts for a party. The first

recipe requires 2 i cups of flour and the second
recipe requires > oup less than the first. Write a0

equation that can be used to find the mumber of cups
of flour needed for the second recipe.

2. The fraction %_,is found between which pair of
fractions on # number line?

3.AtTAM, the temperature was 15°F below zero. By
2 P.M. the temperature rose 32°F and by 5 P.M. 1t
dropped 10°F. What was the temperature at 5 P.M.7

F. 10°F

~ 15
G. 9°F g
_ | +37 »;6
I.IloF & / ’l‘

GRIDDED RESPONSE A diver is
swimming 11 meters below the surface. The diver
sees a shark 19 meters below him. How many meters
below the surface is the shark?

80

o~

Ut 1 —

5.

PERICD

EZZ¥ GRIDDED RESPONSE Maria had $240 n
her savings account. The table shows the change m
her acconnt for four comsecutive weeks.

- Week | . Change - LIO
1| Depoiitofs2s 4952 65
2 Withdmawal of $45 P> 220
3 Withdrawal of $10 ~[PD o
4 Depusit of $60-™ Y40

B} )
How mnch money, in ﬂﬁﬂars,@igdgﬁa ve in her
account at the end of the four weeks?

6. The table shows the distimce Kelly swam over a
four-day period. What was the total distance, m

miles, that Kelly swam?
-K.e]ly’s Sm_?imming_.' .
o Day ey
Monday 15 .S0
3
Tuesday 2;_ ?\—,5
Wednesday 2.3 Q.30
Thursday 3% ?) ,5 0
A_10.5 miles |, "
5 miles [0.20 0,05 M
B. 10, Miles ‘[2-3_?_-_. [ 5 |
1, s~
D. 3 miles q

7. Which of the following gives the correct meaning of

Course 2 « Chapter 4 Rational Numbers



NAME DATE PERIOD
8. The table shows the lowest temperatare readings to 12. 5_;-3-__‘.{ CRIDDED RESPONSE Evan mms 23 miles
the nearest degree recorded for four couniries. T 3 8
lq' eachweek.Hemns;mEisonMonﬂaysaml;milc
Gty Temperature (°F) ~="  on Teesdays. How far does he nm, in miles, on.
Finland —-61° E Thmsday Jflt is the Uﬂ%{lﬂ]&l' IHBW
France —42° -—3” & ,
fran o Nak - eles
United States —80° 13. E=2 SHORT RESPONSE A recipe ﬁ‘ a batch of
cookies calls for 2-;: cups of flovr fer 24 cookies.
. ) Manue] wants to make 72 cookies. Bow many cups
Which of the countries has the lowest recorded of flour will he need? %fo 5
temperature? : 3 W -
e .
A. Finland Ncookics 1 2copki
B. Indi 14. EXTENDED RESPONSE D
’ laundry detergent contains 35 cups.
C. France KM14GWSWIIMdMM_

9. £=# GRIDDED RESPONSE Nate had 25 action
figwes. He gave away 10 to his brother He then got 3
new action figures as agii’r_Howmmyachonﬁgures
does Nate have now? ( g

10. jon represents the least value?
~ X D
G.678 +=

E
1.678——5

£2¢ GRIDDED RESPONSE Jacob had $25 for
back—to—school shopping. He bought a shirt for $15
andﬂlcnretumedashirthcboughtaweekagoand
. got $20 in return. How much moncy in dollars does
Jacob have now?

11.

Course 2 = Chapter 4 Rational Numbers

Part A Write an equation o represent how many
loads £ you can w; one box.

= 55

ow many loads can you wash with

Ll SRR

Part C How man(iloads can you wash with 3

boxes? 8’ V4 &

Port B
box?

81



. NAME DATE

Standardized Test Practice

Read each guestion. Then fill in the correct answer
on the answer document provideid by your teacher or
on a sheet of paper.

1. What is (3x — 2) — {4x + 1) in sipplest form?
Ax-—3

®-=-3 (3\-2 f4%)-]
C.—=x+1

D.x+1 ___)( _3

2. Roberto is training for the cross country team. The
table shows the number of minutes he ran the first
frve days.

Day Nlllflbe!' of
Minutes
Day 1 30
Day 2 30
Day 3 46
Day 4 40
Day 5 50

If the pattern continues, which of the following
shows the number of minutes he will run the next
three days?
. 50, 50, 60
50, 60, 60
H. 60,60, 70
1 60,70, 80

. == GRIDDED RESPONSE What is the value of

the expression below if x = 6 and y = 47

x+y+5

104

Unit2Z - E)LP["&S‘S lons

PERIOD

4. Which of the following descaibes the relationship
between the value of a term and 7, its position in the

sequence? '
Posiiion 1131213t 415:imi
Valweof Term | 3 | 619 [12{15] %

A Add2ton.
Divide z by 3.
Maltiply r by 3.

D. Sobtract » from 2.

5. ==¢ GRIDDED RESPONSE Parker baked 80 cookies
for a bake sale. At the sale, 70% of his cookigs sold.
How many of Parker’s cockics were sold? 51

1 3
6. Which fraction is between 3 and;?

7. What is the first step in evaluating the expression
IXGBF4H)-27T+92
multiplying 3 and 5
adding 5 and 4
C. subtracting 27
D. dividing 27 and 9

8. ==¢ GRIDDED RESPONSE A square-shaped bulletin
board s shown.

Tf a teacher covers 35% of the board with papers, how
many square feet will hot be covered?

=

Course 2 = Chapter 5 Expressions
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9. What is the perimeter of the square garden?

4 s

2 foet

L 30.25 feet

F. 5 fest
G. 20 feet

10. Sachi collects stamps. Each year, the number of
stamps in her collection is ten times n, the number’s
position in the sequence. Which sequence represents
Sachi’s number of stamps?

A.1.11,21,3]

" B.1,10,100, 1,000 o — < N
C.10,11,12,13 ‘)
@ 10,20,30,40 (4 .-

11. What is the GCF of 45x*y and 9x3? q%

F.9 T H.9x% D
Q’fg} ?5
1X (%XQ%QX )

12. E5= SHORT RESPONSE Lemisha drove an average
of 50 miles per hour on Stnday, 55 miles per hour
on Morday, and 53 miles per kow on Tuesday. Let s
represent the munber of hours she drove on Sunday,
m represent the number of hours she drove on
Monday, and # represent the numbex of hours she
drove on Tuesday. Write an expression that
represents the total distance Lemisha drove.

1]

A

A

-

13. Which of the following ons can be written as

56 +3)7 t5(34/ﬂ)

A xe5+x=3
B.5«3+5x
C.5+3+x
D.34+5-x
0K +. DY .
‘ (éétgj
14. SHORT RESPONSE Use the Distributive Property to
rewrite 4(12) + 4(8). Then evaluats the expression.
1(a+%)
15. Which statement below is an exampie of the
Associative Property of Addition

? .
é7+(3+5)=7+(5+3) C{K ?bx <
9+ (11+6)=(9+11)+6 2
E6+5)=36+3+53
&Ké}5>

L 12(8 +4) = 12(8) + 12{4)
16. i EXTENDED RESPONSE The first and
== fifth terms of a sequence are shown.

Timﬁﬂi

RERNRERE

Term 5

Part A What might the third term look like?
Part B Describe the relationship between the term
number and the sequence.

Parf C Write 4 rule that connects the term number
and the number of toothpicks in the sequence.

105
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Standardized Test Practice

Read each guestion. Then fill in the correct answer
on the answer sheet provided by your feacher or on a
sheet of paper.

1. A sports store sells two different field hockey kits

shown in the table.
. Hockey Kits. .-
Begimner .| = Basic -
hockey stick hockey stick
ball ball
shin gnards

The beginner’s field bockey kit costs $150. Tt is $15
more than three times the cost of the basic kit. What

is the cost of the basic kit?
A $35.00 $45.00
B. $40.00 D. $50.00

2. Which line contains the ordered pair (-2, 4)?

® LY
a ] g [N
N S{ NEN
AN 18 N\ \\
N EN NN
. N x
(8]
N\, N,
AN N N
N NN
\
Y
y b
F. line line 5
G. linec L line d

3. Which integer added to 12 gives a sum of —147

A.-18 .—24
B.-20 26

128

Uae¥ L= Eﬁuﬁ«yﬁ *’Inaa’iu&;-» e

PERIGD

4. 522 GRIDDED RESPONSE Mrs. McDowell
is making a big batch of cookies for her soR’s
birthday. The price of the chocolate chips 15 2 bags
for $4.00. Use the table to determine the sumber of
bags of chocolate chips 7 that Mrs. McDowell

bought if the cost ¢ was $12.
r 4Dy e
1 1{4+=2) 32
2 2(4+2) $4
3 3(4=2) $6
L) bHy812

\

5. 2z# GRIDDED RESPONSE Aida bought 2
costume box containing 50 costumes for $300. She
sold all of the costumes and made a $250 profit.

She sold all of the costzenes for the same price. Use
the equation 50c — 300 = 250, where c is the selling
price of each costume. What was the selling price of

one costime in dollars?

50(\, — 3@0’
%«f/

6. Whi the fo]lowmg pmblems can be solved
usmgﬂ:c equation x—9 =157

Allison is 9 years younger than her sister Pam.
isom is 15 years oki. What is x, Pam’s age?

G. David’s portion of the bill is $9 more than
Jaleel’s portion of the bill. If Taleel pays §9,
find x, the amount in dollars that David pays.

1. Calvin owns 15 CIDs. ¥ he gave 9 of them fo a
friend, what is x, the zrember of CDs he has left?

. Course 2 + Chapter 6 Fquations and inequalities
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7. What value of x makes this equation troe?
4x+T7=43

AL 12

10
9
. B

8. Joshua spends $0.25 for every song he downloads to
ks cell phone. Which of the followimng represents
the number of songs be can download if he has at
least $37 i '

b -
[ )

o =
[ J P

L s
9 10 111213 14

X 4 56 7 8 31011121374

1. Not enough inforination is grven.

AU
L
*

|- - o

L A SHORT RESPONSE Rico, Carolina, and
Glori2 have pizza that they are going to be shaning

with other people. Rico gave away-; of his cheese

pizza to Carolina and she gave him - 2 of her

pepperoni. Rico then gave | Glom of his cheese

{}}J pizza. How much. pizza; j_ ppETOn] am:l cheese,

does RICO have 1

WRZ-3:

\ﬁ

-7
— ‘.t—i—t—»
SN RIZH

10. For a warm up, Samunel runs 200 vards less than
half the maximum distance he can rn. This is
represented by the equation r =§x— 200, where x
represents the maxmmum distamee be can un and r
represents the distance ran daring his warm up. If
Samue] ran 1,600 yards during his warm up, what
is fhe maximum distamee he cannm"

Q3,500 yus f@eo-;x m

C. 1,800 vards 9 SO .
D. 1,600 yards . —

(P ‘B'Era

Wharls the valae of 20 = (—4)?
_ H.3
L4

12. =% GRIDDED RESPONSE Ines is in a hot air
talloon 89 feet above the groumd. A bird is flying
15 feet above the hot air balloon. How high off the

ground is the bird in feet? ,DLLM

2 EXTENDEPR RESPONSE A first-time
== bungee Jumper is about to make his first
Jump. When the bungee jumper jumps, he will fall
5 feet every 0.5 secomd.

Part A Let s be the total number of seconds in a
jump and % be the height of the jump. Write an
equation that can be used to find 5.

Part B Use your eqnation to calcnlate the total
seconds for a 150-foot jump. Show your work.

129



NAME

Standardized Test Practice

Read each question. Then fill in the correct answer
on the answer sheet provided by your teacher or ona
sheet of paper.

1. Francesca typed 496 wonds in 8 minutes. Which of
the following is a correct understanding of this rate?

A. At this rate, it takes 62 minutes for Francesca 1o
type one word.

B. At this rate, Francesca can type 62 words in 8
minutes.

At this rate, Francesca can type 62 words in one
minute.

D. At this rate, Francesca can type 8 words in one
minute.

2. The table shows the prices of three boxes of real.
‘Which box of cereal has the highest unit rice?

" (5. the 32-ounce box
H. the 48-ounce box
1. All three boxes have the same nnit price.

3. Z%# GRIDDED RESPONSE A bakery sells 6
bagels for 2.99 and 4 muffins for $3.29. What is the
total cost in dollars of 4 dozen bagels and 16

=8 SHORT RESPDNSE A teacher plans to buy
5 pencils for each student in her class. Pencils come
in packages of 18 and cost $1.99 per package. What
other information is needed to find the cost of the
pencils?

X

DATE

muffins, not including tax? 2 qq C

{0® T — Kotios « Proportiing

PERIOD

7

5. During a 3-hour perioed, 2292 people rode the
roller coastér at an ampsesnent park. Which
proportion can be used i fand x, the number of
people who rode the coaster during a 12-hour
period, if the rate is the smne?

6. A family went on a vacation and nsed 5.4 gallons of
gasoline to travel 150 miles. How many total gallons
of gasoline will they need 1o travel 200 more miles?

@12.6 gallons
G. 13.1 gallons
H. 143 gallons

L 16.2 gallons

E=2wx SHORT RESPONSE You can drive your
car 21.7 miles with one gallon of gasoline. At that
rate, how many miles can you drive with 13.2

g_allonsofgaso]ine? 98(0 (_lL( DWVL

8. The speed limit on a highway is 70 miles per hour.
About how fast is this in miles per minute?

A. 4,200 mi/min
B. 11.7 mi/min

1-17 mi/min

D. 0.117 mi/min

Course 2 » Chapfer 1 Ratios and Proporfional Reasoning
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9. What is the constant rate of change shown i the
table?

" Time (h) Pistance (mi)
0 0

1 5
2 10
3 15

10. SHORT RESPONSE At 10 A M., the temperaturs
was 71°F. At 3 P M., the temperatare was 36°F.
Find the value of the slope and explain what it

means. Shﬂ 'ha
..---b-—“’""
19° 3

11. Which of the following relahonshlps represent a

direct variation?
A.
- Hours,x . 1 2 3 4
“Wages(Shy | 20 | 30 | 40 | S0
B.
‘Hours,x: -] 1 2 3 4
Wages (5),y | 12 19 26
Hours,x - | 1 2 3 4
Wages 8Ly | 6 | 12 | 18 | 24
D.
Howrs, x| 1 2 3 4
“WagesSy. | 15 | 20 | 25 | 30

Course 2 = Chapter 1 Ratios and Proporiional Reasoning

12. Tomake a punch, Anna 2dds 8 oences of apple
jmceforevery4mnmes of orange juice. If she nses
32 ounces of apple jmive, which proportion can she
use to find the number of conces of orange juice x
she should add to mzke the ponch?

13. SHORT RESPONSE A Jimmer 1s served at an
afbletic booster fundratser. The constant
relationship between the number of people served
at dinner 7 and the member of ounces of beef used
b is shown n the table below. How many people
were served if 760 cunces of beef were used?

o] 290

600 | 760

. '- Ih . P S‘
B 1 20

20
80,

14. EXTENDED RESPONSE The height of the waler
in a bathtub is shown in the graph.

T:“gh /}{
=8
§’37/
/1 :
o T 2 3
Minytes

lo

Part A Find the rate of change in inches per 7

Part B Explam what the pmms {0, 0) and (1, 6)
represent.



Standardlzed Test Igractlce

Read each question. Then fill in the correct answer
on the amswer sheet provided by your teacher orona
sheef of paper.

1. Which of the following samples would be most
_ representative of the entire student population?

DATE

a4 — Stad stics

PERIGD.

\(5 at (267
C Lalxizg‘;—i"j
258 O

4. 25 GRIDDED RESPONSE Neela has 11.5 yards of

fabric. She will use 20% of the fabric to make a flag.
How many vards of fabxic will she nse?

Q.chﬂa

A, surveying every boy in a gym cless

B. surveying every girl in au art class

C. surveving every teacher

ving every 3rd stodent Who enters the---

\.t:ﬁ"school

2. Each spinner is spuft once.

— . \
‘What 15 the probabﬂﬂy of spinning the f%@

T

the letter A? I 1 ‘

"8 e - = g
6.3 8' A O
H.2 ' ‘

O= ek

3. Which of the following equations is equivalent to the
equation shown below?

3x+5=T7x-10
A x+5=—-10 ""L\(y\ 4,_'5; -—LO
B.4x+5=-10
C.7xz—-5=3x"

@wzax+5=—'-m 3X*’"5“-’*
R B

. ==f= GRIDDED RESPONSE A patio blueprint has a
key that shows 1 inch is eqoal to 12 feet. If the owner
wan's the length 1o be 30 feet, how many inches will
tht:lﬂngth]:vecu:lt!:uel:'];ut:pzmji‘?[ml B | %

P Y —

studmjshaveonfherroe]]phonaslsm 8,7.6,5,5,
A1 o_ . Which of the following

Ha]fofthenngtonesambelow 7.5 andhalfare

\/ézbwe‘?s
The range oftbﬂdazans9nngtones

@f-&nouﬂmrofthﬂdatam 11 nugtxm&s
"Abount one fourth of the ringtones that the students
bave are af or above 5. P e

55 U 11

7. Which bex plot represents the data set
4, and 257

8, 12,21, 15, 20,9,

[| i i H i 1 L ! -
1 i { 1 i 1 £ t i

30 12 14 16 18 20 22 24 26
B. L * .
-t 1 [ 1 ! L ! ! S
- i i ¥ 1 1 i ¥ i [
8 0 12 4 18 18 20 22 24 28
C. -———a » —
) H ) I ! 1 1 i | |-
1 T i i ¥ 1 i 3
g 10 12 4 16 18 20 22 24 26
D. r—p *u—-——.

3 1 3 3 3 1 5 H H ! -
o I ] J 1 1 i i 1 t

8 10 12 14 16 18 20 22 24 286

224

Course 2 =~ Chapter 10 Stafistics




DATE

8. Katherine polled 21 classmates to find out the
average number of hours each spends watching
television cach week. Which of the following

PERIOD

9. The numbers of monthly minutes Gary used on his

cell phone for the Iast efght months are shown below.

displays would be o 1 ST ST e L
indivical student resporest " Mopchly Cell Minutes
400 550 450 620
¥ Number of Hours Spent ) N NP R
Watching Television Eack Weell (/j? el B ”
1518
25% What 1s the mode of this daia?
S A 3S0.ninutes —.
) o - B. 450 miniutes | T o
_____ . 475 minutes
. 400 minutes

Number of Hours Spent
Watching Television Each Week

14

M

vl pd

Number of Students

DN DO ®O

Nam

/ z//
f .
H. Number of Hours Spent Watching Television

ch Week

nber of Hours A f—-*““““\\

-
x
x
X x
X %X 2% X X X
X, % %X XX KXXXXNKX XX
\\_ i i‘.l‘]T']"“llOiil"
0 5 10 15 /\2\0 HHHHH o g
Number of Hours Spent
L Watching Television Each Week

< —t

i 1 E I ] P
i i [] 1

] ] ! I3 LS
) 1 [ 3 ] 1
0 2 4 6 8 0 12 14 16 18 20

Course 2 » Chapter 10 Statistics

f=%m SHORT RESPONSE Mr. Thompson made
20 liters of punch for a party. The punch contained
5 liters of orange juice. Wote and solve a
proportion to find the percent of orange jui

EXTENDED RESPONSE The table shows

H ==! how values of a painiing increased over
ten years.
2005 $350 | 2010 | $1,851
2006 $650 | 2011 | $2,151
2007 $950 | 2012 | $2.451
2008 | $1200 {1 2013 | $2,752
2009 | $1551 § 2014 | $3,052

Part A Select and create a display that shows
the relationship between years and the value
of the painting. Justify your reasonig.

LPart B Write a conclusion based on vour

Wm@amm
of the will 20
Em”%g “"‘:%' e s

lé.

Ca
. *\\\

.-9

$200 ea,eﬂmtzﬂ-a*f

225



u.p&f < — Qreles /3D Fisres '{'

. NAME ' DATE PERIOD

Standardized Test Practice a %/:;
Read each question. Then Hll in the correct answer , W (-{OS@
on the answer sheet provided by your teacher or ona 4, GRIDDED RESPONSE imea 1zm 3 miles in 19
sheet of paper. - minutes. At this rate, how mamy minutes would it take
’ her o run 5 miles?
1. A metal toolbox has a length of 11 inches, 2 width ’3"7-/- “ 3F3 _ S qs
—  of5inches, and-a height of 6 inches- What is he 2N 9
volume of the toolbox‘? 5. Wilma made a decorative 3 - qs
A 22in? ﬂ.bﬁ uy SC.LQ—/ . piece shaped like a square X
B. 121 in3 pyramid with the dimensions
oI N I shown.
| 330 in? VEAUX? &0 She wants to double the
' - 1l volume of the piece. Which
V= ilx 30 of the following square
e id pieces will have
2. EvelynhasBappI&stosezvetohﬁrﬁicnds %tﬁﬁlmwm 2
If Evelyn serves each fnend of a whole apple, * volume of Wilma’s
how many friends can she serve?
F.1
G
L12

Bin.

3. =2/ GRIDDED RESPONSE Daniel is designing
and building a small storage shed. He wants the
diimensions of the shed to be one half the
dimensions of the shed shown below.

Slorage Shed

Volume =

4 s Lt -- . ] - 1 r
5 10l T 800 cubic eef
5 q 6. A wallet-sized print is ebout 5 centimeters wide and 8
10 centimeters iong. Grace wants fonse the wallet-sized
< _ print to make a prinf that is similar to the wallet-sized
If the dimensions of the shed above are each divided print. I the new print will be 20 centimeters long,
. . how wide will the new primt be to the nea:rest
in half, the vohmme of Danjel’s new storage shed . Gimctor? ?’k
will be what fraction of the volume of the origimal ¥. 11 centimet /O’Oa}, 5’
storage shed? . __,..‘--""'

.2 Ve5tsxd
: = Q9% U
100

VEIS =5 %




NAME b-5z-8

DATE

PERIOD

+‘~§' s )
b>"3
7. —‘-"-f’ég GRIDDED RESPONSE Solve the equation b

- 5=-8. What 15 the valoe of b2 3

8. What is the area of the circle shown below?

12. Andrea made a tiered cake for a wedding. She wants
1o cover the outside of each layer marked A, B, and
C with white icing,

2 2
A= Tr

/A= 3 T4vaS

10. The circnmference of a circle 15 37.68 meters. What

is the radins of the circle?
G.lom (=T i
37.L§ =314

y ek

- g =0

. E28 SHORT RESPONSE Sophie drew a circle ona
map with a radius of 2 inches. She plans to visit the
cities within the circle. What is the area of the map

that she wants to visit?
A=l c® @
dx 2
Coursa 2« Cha@ x q
” IQ. sb

‘What is the cirenmiference of cake A?
A3 141

it (= el

D.37.68 in. C, 200 x4

] EXTENDED RESPONSE A ceramic dish

== company makes small square dishes with Hds.
The dishes are shipped in rectangnlar boxes that are
20 centimeters by 20 centimeters by 16 centimeters.
The extra space in the box is filled with packing
material to protect the dish.

Hm%

Part A How much space does the dish take up?
Part B How much packing material is needed?

Part € How much material is needed to make the
box? |

| Lp
oo
LY OO

177



© NAME

BDATE

Uit S — Aogles ( Cross Sechons

PERICD

Standardized Test Practice

Read each guestion. Then fill in the correct answer
on the answer docnment provided by your feacher ox
on a sheet of paper.

1. Which of the following two anglcs are

5. In the figure below, line x is parallel to bme 3.

¥ A
RN
J

complementary?

A. ZRXS and ZTXU
LSXTand £ZTXU
. /RXS and LSXV
D. ZSXRand ZUXV

2. A recipe calls for 2 packages ofpadding. How
many batches can bc made if 20 packagcs of
pudding are available?

. 9 batches a G
H. 10 batches

¥. 8 baiches
L 11 batches &2 G -
3. ==¢ GRIDDED RESPONSE Greta packs tomatoes
in boxes that weigh 1.4 kilograms when empty. The
average tomato weighs 0.2 kilogram, and the total

weight of a box. {illed with tomatoes is 11
]ﬂlograms How many tomatoes are packed in each

—TefL o
/‘5”

4n—8 <40

B

C.n>8 +

152

TG ad_;acent angles
H. nght angles
L regular angles

6. Thom has a scale model of his car. The scaleis 1 : 12.
If the actual car has 16-mch wheels, what size are the
Wheelsonthcscalemodel‘?

= / ; I. v )
8. A stained glass window is in the shape of an
oquilateral triangle. What is the measure of one
interior angle of the tiiangle?

F.30°
57_,.6_93)

. 90°
L 180°

Course 2 = Chapber 7 Geomeinc Figures




NAME

PERIOD

9. B58 SHORT RESPONSE In_FGH, mZG =30° and
mZH = 100°. What is themeasure of ZF7?

(3013 7 o

13. Aa architect created the scale drawing below
showing a wall of a child’s playhounse.

— lﬁ—%atwﬁlﬁmeasur&ef—él—m-ﬁlﬁﬁgn

e 7 -
- 5_,____,. o N

C

A, 15°
B.25°

braces as shown.

Triangles 4CE and ABF are similar triangles. The
scale factor is 0.5. If CE = 10 feet, what js the length

of BF?

F.2514% He6it
G5R L2
B | E}_ﬂ

~ 1O

12. Jesse purchased a new digital camera for $499 and a
printer for $299 including tax. He plans to pay the
total amount in 6 equal monthly payments. What is
a reasonable estimate of the amount he will pay each
month?

C. $155.00

D. $165.00

Course 2 » Chapter 7 Geometric Figures

_ Which of these was the scale used for the dmwing if
the actaal height of the wall is 7>foet?

Flin=1#
G.lim=1f ! *;)f* "],*‘537
/Mﬂ.zm_—uﬁ —
A /’Xm—/
. I. ~in.=1ft Q( 3 % wl
T T G >

14 % EXTENDED RESPONSE Use iriangle
== X¥Z to answer the following questions.

) 2l
Part A Classify mgle X e 4.5 05 Cedl o/
a s

Part C Classify the triangle by its sides and by ifs
amgles. ¢ {Sosgelee S ouaadtAs

Part D If ﬁ'ls congmantm AZ, find the measure of

Part B Classify angle ¥.




NAME DATE PERICD
Standardized Test Practice ,
4. Z2£ GRIDDED RESPONSE Stacy has a spinner
Read each question. Then fill in the correct answer f and a number cube similar o the ones below. Afier
on the answer sheet provided by your teacher or on a # %' . pinning and rolling the womber cube, she will add
sheet of paper. h({ the two numbers.
1. Jessica played a game where she spun each of the ’{Z
- spimners.shown below once. T she sping anp even oA ._
number on Spimner 1, red or yellow on Spimner MQ--}
2,and a B on Spinner 3, how many possible umqua?
outcomes are there? outcomes are there?
What is the probability that the sum of the numbers
from the spinner znd mmmber cube will be 3 or 4?7
5. S35  GRIDDED RESPONSE | Time-| Distante.
The table shows the total Uy fmig
distance traveled by a boat 2 90
traveling at a constant rade
of speed. Based on this 25 112.5
information, what will be p
the distance traveled in 3 135

\,kcs Q\,
_ﬁs 91{ CM@/

6. Coach Castillo wanted his feam to do a variety of
running exercises for practice. To make it more
interesting, he used the spinner below o determine
which running exercise the feam would perform.

3. The stmdents i Mzs. o Number:-
Martin’s class sell Keras to 4 ‘of Vates.
raise money for field trips 62
each year. Theytook a
survey to determine which bracelets 27
tems to sell to other -
stadents. The resnlts of the | - = 21
sarvey are shown in the + Trading 4
table. Based on th cards
res]_:its W];m?;lth: e What is the theoretical probability of landing on
probability that a stodent, snacks 111 40-yard sprints?
selected at random, would small 30 ¥l
by a drink? toys 8
al
s =1
1
A< C.= 1
: 2. r_l,_d__,_,_, H. S
B- - £} PN E
200 Course 2 - Chapter 9 Probability



NAME

7. Douglas paid $21 for a pair of jeans at the mall.
They were on sale for 20% off. What was the
original price before the discount?

DATE

PERIOD

12. Juan rolled a number cebe labeled ons throwgh six
four times. Each time, the nmunber 3 appeared ¥
Joan rolls the number cube one more time, what 1s

A. $4.20 E:ﬁj:lwf‘ ‘ ) ] the probability that 3 will appear?

B.§525 M Ty oA\ LD - ? F. less than = i
ot [alle ULl wletd Tt Qb uL el
T Dstose0 oL T e Gs T

-1 NS, s S S H. greator than . el *’M
X 1GF ,
g - Ql Az I.notenoughmﬁ:mmﬁm - H"J'mﬂ
. £ SHORT RESPONSE Which point has a
~ - cbortinats with the preatest dbsolutevalng? T | . IR _—
’h ’? 1 I c i 1 ? 1 1 [ -
_:1 ...é 6 é ; é Bl 13. EXTENDED RESPONSE Molly will

9. A cell phone company charges $35 a month plus
$0.30 per text message. Which expression could be
used to find the cost for one month of service with &

H. 35.30b
1L 356+ 0305

10. 5

SHORT RESPONSE Corti needs to get milk
(M), eggs (E), bread (B), and cereal (C) at the store.
Since the bread s close to the cereal, Cormi always
picks up the cereal right after getting bread. List all
of the different combinations of ways she can pick
up the items she needs. Use the first letter of each
itemn in your list (M, E, B, C).

E?L M{ e AL MBCE

==~ 11_ Sierra has 11.5 vards of fabric. She will use 20%
of the fabric to make a flag. How many yards of {
B, 8.6 yd S

Zi>

== travel from Treston to Mayo by car.
Suppose she leaves Tremton on one of three
routes: 47 North, 129 Norh, or 26 West, and
arrives in Mayo via either 51 North or 27 West.
She does not retrace her steps.

// M Part 4 Based on ﬁmlmap, how many different
L J utes conld Molly take for her journey? Create 2
table, list, or ree diagram to show the possibilities.

""""" *. Part B If Molly chooses one route at random, what -
s the probability shewill drive on US 277
) _

M

p-'""'

| Q-2 27T AV ey O

fabric will she use? )
>% |
C.45yd ’
B>
K

A.92vyd A
Course 2 » Chapter 8 Probabmtyﬂ-ﬂ""j—‘)

A 2] > Wyt
Al =2 VO A0
A AT DV ey



John and Kamira are ing a game. Johm's score (J) and Kamira's score (K) after
round 1 are shown on the number line.

T

PR N |
]
it

i
i
10

-4-0--:;

mn—-—
[Tl

I
]
6

‘p.—-..u
L] e

]
I
3

M—ﬂ

The score recoraed =t the end of the first round 1s 2. What could this score
represent?
| The swm of John's soare and Kamira's sCore.
B. The difference befwesn john's score and Kamira’s store.
C. The absolute valvue of the difference of lohn’s score and Kamira's score.

D. The sum of the absohite value of John’s score and the absolute vaiue of
Kamira's score.

Hem 2

What is the value of 4.2{46 — 65)7 |
A -798 ‘«\{"QC“ M)

@ 73R
. 798

D, 798
fiem 3
Mﬁt’ﬁﬂlﬂpmdud?
* -~ —
87 -33 - % 2 g)
A -552 e .
(m: -304 -
c. 364
D. 528
fiem 4
o
A L.l] Dusingf one week, Sheila made several changes to her bank account. She made four
Ry misofmeachfmmanAm.%ealsowedherched:cmﬂfma$156
'\_O O pirehase. Then she deposited her paycheck of $375.
A
\ = L,< Byhammuch zi'd the amount in her bank account change during that week?
— _’5 \ *"- re
_d&rease
& 5/'/\ ‘) . 56971 increase
B, §69% decrease

54




. Bem5

Consider the expression 6r—r+8{15-7}+23-6.

Part A: Is —3r + 1237 equivalent io the given expression? Y . -
gy | I D Y e el

(-

Part-B: Explain how yous dotermined whether the expressions are or are not
equivalent.

] |

Fem G

Which expression is eqdvalent o ~7(y — 27

A Fy-2 _
B. -7y +2 . r] {% iy
6. -Ty—14 {

@ —Ty+ 14

B 7

ufie works Sunday, Monday, and Werdnesday for 10 hours each day. On Toesday,
Thuxsslay, and Friday, she works 7 hours each day. She does not work on Saturday.
Her weekly total eamings are $612.

(@(““" © oy (16 s’\} +33 M(Q
Sy iao- Se v T

Dart A- What is her howly rate of pay? \@(% ) _“i‘-"’_ WQ%) = {*‘%D\ _

5@.&.@2’@ . ) 5@ ! Q— = (sl o
R = Hia-
Pt B- Jabic’s manager proposes a new pay rate. The manager says Julie can get
% paid twice her honrly rate for working any hours over 8 in a day. What would be her
weekly eamnings using this method of payment? Explain how you found her total
eamEngs using this method. ‘

S i) ¢ au (Rt )= x
| ) 13+ au(e) = e
/ 15?\::&%#&1) S S
SV e w—

F;L.J\Q L Y (@ﬁ_{}
Part ©: Rifie thinks she can eam more money if she is i Etimesherhamiy

e for asmy howrs over 40 in her weekly total. Which method of payment, Julie’s or
her remager’s, would give Julie higher weeldy eamings? Explain your reasomng.

i

L X 2 b edand Y hg (Ga

B

(@2 + 103 2700) + 18 ()= &

)

Z0 1 2 51hS AgD 4 1993 )




Hoem S

The sum of a number, 7, and 8 is multiplied by —4, and the resulf & 12

The average rate of hair growth Is 2.5

At that rafte, how many morths will it take to grow 23 5 centimelers of hawr?

A s noTths /'
—
B. nimmﬂ'zs
C. 18 menths
B. 28%;130:1&15
Hem 310
Consider the graph.
12
5 3 £
. @
=
28 4 A
0
12 24 36
Mumber of
Weh Visits

What does point A represett on this graph?

@/ When there are 12 web visits, there are 4 downloads.
When there are 12 downloads, there are 4 web visits.
As the number of web visits increases by 12, the number of dowminads

decreases by 4.
D. Asihe number of web visits decreases by 12, the number of dawniaads

increases by 4.




Hem 33

Diging cooimag chicken foses 10% of #s welght due fo water loss. In osnder to obtaln
1,170 grams of cooked chicken, how many grams of uncooked chicken must be

i e o0 et 37

B. 1,287 grams | e e
1,300 gramns Uﬁlg q(, e '7 C«QSQ

lem 12

4 ceniimeber ©

A satolfite 15 18 meters wide. A model of ¥ was buitt with a scale of
4 meters. How wide is the modei?

A BEmelErs.. ! A - _,(:‘i..—w*
Cw/ ) 2 Y ‘gm
C. B4 msters I L
D. 54 ceniirneters A

fiem 13

A bicycle training wheel has a radius of 3 inches. The bicycle wheel has a radius of
10 inches. Approximately how much smaller, in square inches, is the area of the
training wheel than the area of the regular wheel?

AL 2198

D. 3.,142 95 in>

. fem 24 Qlﬁ%%q SN (R R

Lequan is giving a book s a gift. She will put the boolc i a box and wrap . Both
the book and box are shaped like rectangutar prisms with the dimensions shown in

the diagrams. ,_ .
o . V=10 % ANHRS
u:’ %?{“ 6 )k“ 1\5 . - \;!;\10{}/\?’
&/Z{/{C, G (\r\?) E 1-;'—in. ’IE o 2 i
A 5in. e 55 in
' L./ e _ - 2
L S{;:['( 10 in.
;5?3 Empty Box

i Part A= How much empty space will be in the box after Lequan puts the book inside £?
Q'C cubic inches

Part B: What is the minimium amount of wrapping paper needed 1o comp!e’tely cover
the oufside of the box? QK« ) £ 4| WO 5. 54 RV

A5~ square inches SR LS S gj&_é%);f /)

e



Hem 15

Consider the diagram of supplementary angies.

128° ) 5 =
= -
What is the value of X2 R g - (50
e SrtigE %%
A. 0. . —_— s
B, 52 Y o= S5
c. 616 v O
D. 92 : X t L{f
#em 15
Consider the figure composed of two rectangt;lar prisiiis.
i 2.
24 loxg =it
XA (od 2~ qt{’
2w
What is the volume of this figure?
A 320°
B T56 i
p. 7.6801n° _
Kem 17

A gym teacher at Jackson High School wants the school to have a new team spor:
soecer, lacrosse, or rughy. She will take a survey to determine which of those

sports most students prefer. Which pepilation would provide a random sampling for

the gym teacher o use? .

A. ail students at the school who are sixieen years oid

B. =it smdents who buy lunch at the schoof on Friday

C. half of the students who play on team sporis at the school
PP = L S P PR Yy MR Rs St WS,



e I8

listed below are the iz scores for randomly selected siandents in two seventh-grade

classes. | ) o a0
2 - e 15, %Y, ‘S;‘w\f%u} 14
A- 99, 75,84, 70, 86,80 " ”

. ""';;‘)\‘c{zaaaa:ss,ss,S'z,go,ss,az 8},%’31 5O 55} 51 ;%

£y )
Part Az Based on which ciass generally has higher quiz scores?

O o (b

Part B: Use measures af cemier and for variability to justify your answer.

’}J{M{ g g s A ca ¥ .3
Lo e %5 L

Consider ¥ie iwo box plots.

Ploi F

————t+—1— —
0 10 20 30 40 30 B0 70 &0 90 100

Piot H
@_ —_ 1
i@-’/‘ L 1 I t I |
* 1 t ; { |

g

1 L 1 i i y
i 1 I 1 | 1
O 10 20 30 40 50 €0 70 & 90

Which skatement Is TRUE?

. Piat F has a greater range than Plot H.
Each piot has more than 25% of the data greater than 50.

WL =
/WJ% @'Ehemedian of Piot T is greater than the median of Plot H:

%.Ihesgkead between the upper and lower quartiles on both graphs is 10.



siathematics

tem 20

Part A: What is the difference between the medians of Plot A and Plot B? Explain
how you found your answer.

ok B D Le Rk & oo Y

Part B: Which ploi has the greater mean? Explain how you found your answer.

| ‘f’i@kf A Awldn = o
ok B cwede = 3,93
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ftem 2%

A bag contains 14 blus marbles and 14 purple marbles.

What is the Fkelihood of randomiy purpie marble?

= D. not fikely

fioem 22

A mamber cube with foces numbered 1 %o & is rolled 15 times.

In theory, how many times would you expect to roll a number less than 5?

roes 4 A 1C

P VRN

D. 125

BEem 23

The fahbie shows the resuits of randomly selecting colored marbies from a bag
A8 Eme=. The marble was retumed 1o the bag after each seleciion.

Based on these results, what is the expected probability of randomly selecting a
green marbie from the bag in one attempt?

A 0125 % i 0
620 BN

D. 10 Lo
. Eem24

The six sides of a mumber cube are labeled 1, 2, 3, 4, 5, and 6. You flip a coin and
rolf the number cube. In theory, what is the probability that the coin fands on heads
and you roll a number greater than 47

i \ i
iﬁ_ﬂ E ,_.M._w_w e
(5> XT3
p. =



